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14	 On Monday, Lizzie cycled 36 kilometres in 3 hours.

	 (a)	 Work out Lizzie’s average speed.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . kilometres per hour
(2)

	 On Tuesday, Lizzie cycled 36 kilometres at an average speed of 16 kilometres per hour.

	 Lizzie says that the total time she cycled on Monday and Tuesday was less than 
5 hours 20 minutes.

	 (b)	 Is Lizzie correct? 
You must show how you get your answer.

(3)

(Total for Question 14 is 5 marks)




